
Chapter 3: Coordinate Geometry  

 

1. Write the coordinates of each of the points P, Q, R, S, T and O from the figure given. 

 

Solution: The coordinates of the points P, Q, R, S, T and O are as follows: 
P = (1, 1) 
Q = (-3, 0) 
R = (-2, -3) 
S = (2, 1) 
T = (4, -2) 
O = (0, 0) 

Q.2: Plot the following points and check whether they are collinear or not: 
(i) (1, 3), (– 1, – 1), (– 2, – 3) 
(ii) (1, 1), (2, – 3), (– 1, – 2) 
(iii) (0, 0), (2, 2), (5, 5) 

Solution: (i) 

 

  

The points (1, 3), (– 1, – 1), (– 2, – 3) lie in a straight line, 
Hence, the points are collinear. 

(ii) 

  



 

The points (1, 1), (2, – 3), (– 1, – 2) do not lie in a straight line, 
Hence, the points are not collinear. 

(iii) 

  

 

The points (0, 0), (2, 2), (5, 5) lie in a straight line, 

Hence, the points are collinear. 

Q.3: Without plotting the points indicate the quadrant in which they will lie, if 
(i) the ordinate is 5 and abscissa is – 3 
(ii) the abscissa is – 5 and ordinate is – 3 
(iii) the abscissa is – 5 and ordinate is 3 

(iv) the ordinate is 5 and abscissa is 3 

Solution: (i) The point is (-3,5). 
Hence, the point lies in the II quadrant. 

(ii) The point is (-5,-3). 
Hence, the point lies in the III quadrant. 

(iii) The point is (-5,3). 
Hence, the point lies in the II quadrant. 

(iv) The point is (3,5). 
Hence, the point lies in the I quadrant. 

Q.4: See figure and write the following: 

1. The coordinates of B. 
2. The coordinates of C. 
3. The point identified by the coordinates (–3, –5). 
4. The point identified by the coordinates (2, – 4). 
5. The abscissa of the point D. 
6. The ordinate of the point H. 
7. The coordinates of the point L. 
8. The coordinates of the point M. 



  

 

Solution: 

1. The coordinates of B is (-3, -5). 
2. The co-ordinates of C is (5, −5). 
3. The point identified by the coordinates (−3, −5) is B. 
4. The point identified by the coordinates (2, −4) is G. 
5. Abscissa means x co-ordinate of point D. So, the abscissa of point D is 6. 
6. Ordinate means y coordinate of point H. So, the ordinate of point H is -3. 
7. The coordinates of the point L is (0, 5). 
8. The coordinates of the point M is (−3, 0). 

 

Q.5: Plot the points (x, y) given in the following table on the plane, choosing suitable units 
of distance on the axes. 
 

x  -2 -1 0 1 3 

y  8 7 -1.25 3 -1 

Solution: The points to plotted on the(x,y) are: 

1. (-2,8) 
2. (-1,7) 
3. (0,-1.25) 
4. (1,3) 
5. (3,-1) 

On the graph mark X-axis and Y-axis. Mark the meeting point as O. 
Now, Let 1 unit = 1 cm 

  



 

Q.6: Write the answer to each of the following questions: 
(i) What is the name of the horizontal and the vertical lines drawn to determine the 
position of any point in the Cartesian plane? 
(ii) What is the name of each part of the plane formed by these two lines? 
(iii) Write the name of the point where these two lines intersect 

Solution: (i) The name of horizontal and vertical lines drawn to determine the position of any point 
in the Cartesian plane is the x-axis and y-axis respectively. 

(ii) The name of each part of the plane formed by these two lines x-axis and the y-axis is called 
quadrants. 
(iii) The point where these two lines intersect is called the origin.  

 

 

 

 


